SUrnene
alk

Divisibility Patterns

The following rules will help ybu determine if a number is
divisible by 2, 3,4, 5, 6, 9, or 10.

A number is divisible by:

« 2 if the digit in the ones place is even.

« 3 if the sum of the digits is divisible by 3.

e 4 if the number formed by the last two digits is divisible by 4.
« 5ifthedigit in the ones place is 0 or 5.

« 6 if the number is divisible by both 2 and 3.

«  9ifthe sum of the digits is divisible by 9.

« 10 if the digit in the ones place is 0.

Example Determine whether 2,346 is divisible by 2, 3,4, 5,6, 9, or 10.

2: The ones digit is 6, an even number.
So 2,346 is divisible by 2.

3:  The sum of the digits, 2 + 3 + 4 + 6 = 15, is divisible by 3.
So 2,346 is divisible by 3.

4: The number formed by the last two digits, 46, is not divisible by 4.
So 2,346 is not divisible by 4.

- The ones digit is not 0 or 5.
S0 2,346 is not divisible by 5.

6: The number is divisible by 2 and by 3.
So 2,346 is divisible by 6.

9 The sum of the digits, 15, is not divisible by 9.
So 2,346 is not divisible by 9.

10: The ones digit is not 0.
So 2,346 is not divisible by 10.

2,346 is divisible by 2, 3, and 6.

Determine whether the first number is divisible by the second number.
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Determine whether each number is dlwsrble by 2, 3, 4, 5 6 9 or 10.
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Divisibility

Complete the chart. Use the divisibility rules to determine if a number is
divisible by 2, 3, 4, 5,6, 9, or 10.
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Complete with <, >, or = to make a true sentence. Use fractions to prove your answer.
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Order the numbers from least to greatest.

9.) 0.06, .006, 0.6 10.) 4.7.4.8,4.75 11.) 0.09, 0.007, 0.083
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Answer each question in a complete sentence.
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13.) Jim's time in a race was 14. 73 seconds. Paul's time, was 14.6 seconds.
Who won the race? Explain your reasomng
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Adding Mixed Numbers

When you add mixed numbers, you may need to re-write the problem so the

denominators are the same.
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Add by showing all steps. Simplify if possible.
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Subtracting Mixed Numbers with Borrowing
When subtracting mixed numbers, find common denominators first and borrow if

necessary.
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Multiply. Show ALL work and circle your final answers.
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6.  What is the product of 0.3 and 0.2?
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Multiplying Mixed Numbers and Fractions

Step 1: Change the mixed numbers into improper fractions

Step 2: Cross simplify if possible.

Step 3: Multiply the numerators and denominators straight across
Step 4: Simplify if possible.

Multiply by showing ALL work.
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Division of Whole Numbers and Decimals

Divide by showing ALL work.
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